WORKSHEET: How to determine an initial number of activity levels for the order-entry storage pool

Calculate the average total number of interactions per second for the order-entry users

1) Sum of the numbers in the Int column on the WRKACTJOB display for all the order-entry users


2) Convert the Elapsed time shown on the WRKACTJOB display to seconds


3) Divide line 1 by line 2 to produce average total number of interactions per second for the order-entry users


Estimate the average CPU time required to process a typical order-entry CPU transaction

4) Sum of the numbers in the CPU% column on the WRKACTJOB display for all the order-entry users (Important: Do this step at the same time that you do step 1 above)


5) Multiply line 4 by line 2 to produce total CPU time in seconds used by the order-entry users


6) Divide line 5 by line 1 to produce the average CPU time required to process an order-entry transaction


Calculate the initial number of activity levels for the 
order-entry storage pool

7) Multiply line 3 by line 6 to produce the initial number of activity levels


Author’s note: My apologies if this worksheet is too reminiscent of those dreaded IRS forms!
